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Find the term contains x* in the expansion o I Jetidl asdl s
1 : : \ .
of (x? — = )12 according to the descending " o ") S sKae b

power of x, then find the ratio between the | 45! @ADL e P e
coefficient of this term and the middle term. | #=9's 43\ Mo Jelae o 4l

YA/ YAV J oW1 5oddl - das i solt Adialt Ase s



TN YA aal sl ALalt - 3931 5931 - (et 3ulod M1 AR Al 1221 A g it -Aalall Ay 3L Al s ALG| B3l (yLonlial

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead



YN YA aal yd ALatt - J9¥1 5931 - (A 3ulod ) ARIY) Al 1M Bkl g yimnd! - Aalal) Ay g3LEH Al yAM1 ALGH! BaLgs s Loncial

Y Find the different forms of the equation of | Aol ddsdl jsall desl
the plane passes through the point (2, — 1, 0) | (¢ V-« ¥) dadl Hlll g gedl)

and the vectort = 41 + 107- 7k H V2P =) asll
is perpendicular to it . Ads (63508
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(1+ w)” = a + bw such that a and b are e W+ = (@+1) 3813
two real numbers, then (a,b)=....... | —(oP) 9l sl glaas !
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@ (071) @ (19'1) <\“\)@ (\">@

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead



YN YA aal yd ALatt - J9¥1 5931 - (A 3ulod ) ARIY) Al 1M Bkl g yimnd! - Aalal) Ay g3LEH Al yAM1 ALGH! BaLgs s Loncial

K3 Find the different forms of the equation of | Jasdl sladd daksdl ) gl ]
the straight line passes through the point (V=¥ er) daidly Hll el
(3,2,~ 1) and makes equal angles with the | Slaled¥ me & sluze bl ava 5

positive directions of the coordinate axes . DN gl A gl
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Solve the following system of linear
equations using the inverse matrix:
2z—3y =7,y+5x=4,
x—2y—z=1

s, SV Nl el
Bsaadl 5l Sl

(= wot o V= ov-EY
V=8 -e Y-
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E A - 4 person committee is to be formed e e Pl € e dind o S5l
out of 9 men and 3 women. The number of | I ldll sue §B L ¥y Jly
committees contain only one woman = ....... | ... 92 L2 a9 31 el e g g0
3 9 3 9 A ¥ 4 ¥

@ C,+7C, @ C, x7C ‘,«Jx\u@ ru+\u@>
3 9 3 9 4 ¥

© p, x°p, @ °p +°P, W+ IR,
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The equation of the straight line passes Osdaidl Ll M\ As\as
through the two points A(2,1,-3), (=¥ o (Y-crev)?
B(]-;Z;_S)IS: ......................... &;b
@ r=(-1,2,-2)+k(2,1,-3) (v-‘\‘v)ilﬂv-‘v‘\-):?@
@ r= (1,2,-5)+k(2,1,-3) (v-‘\‘v)ﬂ+(o_‘v‘\)=7@
@ r=03,2,4)+k(-1,1,2) (v‘\‘\-)f.!#r(s‘v‘v):?@
@ 7= @2,1,-3)+k(-1,1,-2) (v a9 St (r-am-= ()
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Answer one of the following two items:

(A If Z = S(gjii), then find its cubic roots
in the exponential form.
4

1

(B) If (x + yi) (1 — 30) = 37 | ——

, find the value of each of the real

7+4w?

numbers x and y .
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_— = ) 131 ()
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A8y gl ($E S5
(¥ =1) (Lo o) 08 131 (<)
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P e S Aedasl
Ol Olsde 2 ¢ (o

V=
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If "Co: "C;,=7:9,thenn=....... *¢V=Vuuiﬂuu&\§‘5l

@ 7 ® 15 @ v(®
© 16 @ 9 1 (® M)
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The equation of the sphere with center i) S e 318,501 Dol
(2,-3,4) and touches xy — plane is : IV 6 sl a3y (£¥-cY)
................... ub 0PV

@ =2+ +3)?+@E-D*=4 |-+ v -0 O
® x=22+@+3)P2+z-42=9 |  c-g+trp+0-0 @
© (x=2+@+3)P2+@z-9D*=16 \1i-"t-p)+ v+ 0+ 100 @
@ +2P2+@=32+E+4)2=16 \ 1 "tie)+ v+ v Q)
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The equation of the plane passes through dazdl Hl (6 gtnadl Aslas
the point (3,4, 5) and parallel to the Sosme Sy (0 ¢ £ )
coordinate axes X , Y 18! .........eee | e 2 02 ooyl

@x+y=7 @z=5 hé@ V=u0+u*®
© x=3 @ y=4 SRIORER SIS
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Answer one of the following two items: $ O3 (3o B8N Gk | pe i
(A) ABC is a triangle in which A(2,3,1), (verentas it > < k()
B(3,5,4), BC=(-1,4,0) ()= >D(Eco) o

Find: (i) m(~ABC) (= =30 () el

arcel) Aol 45,01 (i)

(11) The direction component of Dl
&L P o\?J\ L59 }P

AC in the direction of AB ST T ) e (o)

—_ s >0 a9 914..» e (&
(B)IfA , B , C are three adjacent edges in L. Cw «5;}«» .
- - 8y glocte L2 -1 O
a parallelepiped such that: A = (1,4,2) Yy

C(Vever)=Se(Yegn)= b
B =(-321),C=(-1,14) ()

Find : (i) The volume of the parallelepiped 7 shadl g e e ol (i)
(if) The height of the parallelepiped | 7 slaudl g5l5e gyl amsl (i)
drawn on the base defermined | 84l 3acldl Jo oo o]l
by the two vectors 4 , B, S b ol
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\ , \ .
In the expansion of (X2 + -, If the OB 13 U(j o) IS B
coefficent of the fourth term equals the Jolas (6 5l - 3 asd) Jelae
coefficent of T, then the value of n = =0 ded OB e I asl
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IfX=(_2,4', 6), F:(OJkJB)SuCh that c(-‘c izY-)=TJK \J!
kezt and||AB||:7, then the value of ? DS i (Y S .)=:
T T R =5MQ&§V=||$HOL§)

@ 10 ® 8 " @ @
© 6 @ 4 20, S
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The length of the perpendicular from (Vv ¥) Aadl (s o eyl 3 50alt J sbo
the point (2, 3, 1) to the plane : o=F + 2 V- Vsl I
2x —2y+ z=>5equals ......... length unit Jobo oy o S5l

@1 @2 \‘@ \@
@3 @4 i@ v@
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Without expansion the determinant , PO el sasadl b 5y
Prove that : oy
1 1 1 > <
a b c|=0B-a)(c—a)c—Dh) > e 0
a’? b? c?
(w->)P->)(P-0) =
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